2-uniform hypergraph, number of hyperedges: 3522

1.00
(b} n
k= i
0.75 T Q
= : g5
g 0.50 %, 2
S ©
< =
0.25 = i
< 0 Z
0.00 10
1 2 1 2 1 2

—e— (Class 0 —o— C(Class 1 —o— (lass 2



3-uniform hypergraph, number of hyperedges: 1626
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4-uniform hypergraph, number of hyperedges: 845
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5-uniform hypergraph, number of hyperedges: 534
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6-uniform hypergraph, number of hyperedges: 297
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7-uniform hypergraph, number of hyperedges: 247
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8-uniform hypergraph, number of hyperedges: 161
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9-uniform hypergraph, number of hyperedges: 124
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10-uniform hypergraph, number of hyperedges: 110
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11-uniform hypergraph, number of hyperedges: 79
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13-uniform hypergraph, number of hyperedges: 61
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12-uniform hypergraph, number of hyperedges: 60
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15-uniform hypergraph, number of hyperedges: 41
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14-uniform hypergraph, number of hyperedges: 39
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17-uniform hypergraph, number of hyperedges: 29
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16-uniform hypergraph, number of hyperedges: 23

1.00
(b}
k=
0.75 T
= 2
S 0.50 M
g E
< =
0.25 =
0.00
1234567 8 910111213141516 1234567 8910111213141516 123456 7 8 910111213141516

—e— (Class 0 —o— C(Class 1 —o— (lass 2



19-uniform hypergraph, number of hyperedges: 18
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18-uniform hypergraph, number of hyperedges: 15
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23-uniform hypergraph, number of hyperedges: 13
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22-uniform hypergraph, number of hyperedges: 11
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24-uniform hypergraph, number of hyperedges: 9
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21-uniform hypergraph, number of hyperedges: 9
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26-uniform hypergraph, number of hyperedges: 8
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28-uniform hypergraph, number of hyperedges: 7
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20-uniform hypergraph, number of hyperedges: 7
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29-uniform hypergraph, number of hyperedges: 7
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30-uniform hypergraph, number of hyperedges: 5
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25-uniform hypergraph, number of hyperedges: 5
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37-uniform hypergraph, number of hyperedges: 4
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35-uniform hypergraph, number of hyperedges: 3
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42-uniform hypergraph, number of hyperedges: 3
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31-uniform hypergraph, number of hyperedges: 2

2931

1.0
(€b) n
- . ©
% a 0.5
2 5
- 2 0.0
2 ©
< Z.
L0 e teiteiteiteiteiteiteitelei———————— ~1.0

2 2931



1.00

Affinity
o o
oL N
S o

S
o
o1

0.00

1012

51-uniform hypergraph, number of hyperedges:
T 1.0

<b) n

£ 2
= a 0.5

n o

© <b)
sa] 2 0.0

2 ©

‘E é

< | | z
L et e ——————————— ~1.0

390 1 1012 390

2

1 1012

390



1.00

Affinity
o o
oL N
S o

—
o
o1

0.00

36-uniform hypergraph, number of hyperedges: 2
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74-uniform hypergraph, number of hyperedges: 2
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171-uniform hypergraph, number of hyperedges: 1
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154-uniform hypergraph, number of hyperedges: 1
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57-uniform hypergraph, number of hyperedges: 1
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69-uniform hypergraph, number of hyperedges: 1
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66-uniform hypergraph, number of hyperedges: 1
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62-uniform hypergraph, number of hyperedges: 1

1.00 : 1.0 1
O wn
c ©
0.75 = = 0.5
i g 3
= 0.50 8 T U
: E :
0.25 s 5 -0.5
< Z
0.00 10 =mmmmmmmmmmmmmmmm oo ~1.0
2 60 2 60 2 60



60-uniform hypergraph, number of hyperedges: 1
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56-uniform hypergraph, number of hyperedges: 1

1.00 -+ ; 1.0 1
<b) n
= O
0.75 = 3 0.5
>§ (]
= g 3
= 0.50 f B 0.0 mmmmmm
= 2 =
0.25 s 5 -0.5
< z
O e e e e e e e e e e ——————_—
0.00 105 ~1.0
1 10 45 1 10 45 1 10 45

—e— (Class 0 Class 1 —e— C(lass 2



1.00

Affinity
o o
oL N
S o

—
o
o1

0.00

33-uniform hypergraph, number of hyperedges: 1

Affinity/Baseline

27 1 9)

1.0

o
&

Normalised bias
|
o o
@] o

I
—
o

@ ®



b3-uniform hypergraph, number of hyperedges: 1
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52-uniform hypergraph, number of hyperedges: 1
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39-uniform hypergraph, number of hyperedges: 1
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